





(1202 MC)

B.Com. (Gen/Res/Voc) DEGREE EXAMINATION, MARCH/APRIL 2016.
. ‘(Supplementrary). '
(Examination at the end of First Yealr)l
Part IT — Common
- FINANCIAL ACCOUNTING - I
(Regulation 2013-2014)
Time : Three hours - , ' ~ Maximum : 70 marks
| SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the fo]lowing questions.
1. What are the objectives of Accounting?

987,0630R Bk, 2550‘15"@:60 denod.

o

What are the advantages of Accounting? -

@?&oe??oﬁ PEremrodn Beyodk.

3. What are the advantages of Computerised Accountiﬁg?

 503seinE ©87,0630f @Y, F@EreEare Beyod. |

4.  Distinguish between cash discount — trade discount.
égg G080 — BHE G o6 Sogg Poreo Benod.

5.  What are the causes for depreciation?
BHLOMGE 5‘65"@3&’)?

6.  Whatis Normal Loss?

FGrSEs HZo e B2

SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.
UNITI

7. dJ ourn_aliée the following transactions :
2014 - ‘ .
July 1 Ajay started Business with Rs. 50,000
2 Paid into Bank Rs. 40,000
4 Bough;c goods Rs. 5,000 for cash
12 Sold goods for cash Rs. 15,000




2014
July 17 Purchased goods from Uday Rs. 77,.000
18 Sold goods for Vikash Rs. 10,000 | |
25 Withdraw from the Bank for personal use Rs. 5,000
30 Paid salaries to staff Rs. 8,000

rée‘ 808 SgForoDH degihen [&O&)O& :
2014 - _
28 1 eadh 8. 50,000 08 TR0 @r0ReB
2 a8 BYoDHB K. 40,000
4 BHED §%) SO K. 5,000
12 SKEE ey BHH 8. 15,000
17 &8 B00é §%) HE% 8. 7,000
18 23R ead BK% 8. 10,000
25 Do TSR eyl Sood HING 8. 5,000
"~ 30 ?)@2)0(3 é@m'b@o@ &e. 8,000

Preipgre cash A/c from the following transaction :
2014

March 2 Mr. Suman started Business with cash Rs. 50,000
Paid in Bank Rs. 20,000 |

Purchased goods from Amrita Rs. 17,000 for cash
Sold goods for cash Rs. 23,000

Purchased stationery Rs: 8,000

Sold goods to Amar Rs. 12,000

16 Received from Amar Rs. 10,000

28 Paid commission Rs. 7,000 -

30 Paid Rent Rs. 5,000

T NN

s Eo8 HHTToe B0l BN Py HATD Babod :
2014 "
::nnéa 2 035 BB0® TTRY @v&ﬁoaﬁoiﬁcs"aé BOYS BHD v, 50,000 |
| 3 esnsos;m 3908 8. 20,000

4 ol S0l HAEHE 5% 5D &, 17,000

2 - (1202 MC)
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DK B2y B 8. 23,000
| RBR8 §R0f%en 857, 8,000
@555 @20 BEH 55 12,000
%08 B00& DOV HKLL . 10,000
8805 D90 5. 7,000
3802 & & 5,000

UNIT II

Prepare three column cash book of Mr. Mohan from the following particulars. -

_Cash in hand Rs. 3,000 and at Bank Rs. 12,000

Bought goods for cash Rs. 800 and for cheque Rs. 2,250
Drew cash for office use Rs. 2,000

‘Paid wages in cash Rs. 2,000

Paid Rajesh Rs. 800 by cheque

Sold goods for cash Rs. 4,000

Paid into Bank Rs. 3,500 -

Paid Murthy 1450 in full settlement of his account Rs. 1,500
Received cheques Gopal Rs. 950 and allowed him discount Rs. 50

B0S 908095 §oB DITO 008 B3t BB DR D BALDH DODHE :

2010
OB 1
4
B
10
15
18
22

25

28

B 571685 e, 3,000 B0t 2rg0E B 6. 12,000

SRR Y e wgoe . 800 BBt BEy, T 8 2,250

D eI et 008 SHIB &7 2,000

5@53?0‘6» 3@0@ . 2,000

TR DL, T Do &, 800

e Tatat) @353&5"&) e, 4,000

2503 3008 & 3,500

20788 378 &8 oasebéom 3008 3. 1,450 aso§ 2080 &5°. 1,500

RarS $008 DE), Togo 288028 6. 950, 0528 CES &rbﬂbowg 0. 50
3
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10. The cash book show the balance of Rs. 24,200 on comparing the cash book with the pass book
the following particulars were noted. Prepare Bank reconciliation statement )

11.

(a)
(b)
(c)
(@
(@

Cheques issued but not presented for payment Rs. 2,400
Bank paid insurance premium Rs-. 1,500 on customer’s Behalf
Cheques deposited into bank but not collected Rs. 2,600
Bank charges charged by the Bank Rs. 70

Interest on investment collected by the bank Rs. 35d.

BHE H9K0 (55750 ey K. 24,200, B/ HISRY, 27508 S5enE> 5630057 & 1308 DEcires

D& ONTON. LK Dege ToHgAD GO Bl Sahod.

(@) B BVD HosHr BYoDE wrPes 90 Dy, K. 2,400
()  PETERD BE 2mEHd BYo0S ARINBS) PO 8. 1,500
() wryoRH&® B B2 Bkye0 1o S B & 2,600
(d) argsHd 8 T 27505 ;:PQ@Q &, 70 |
(@) aroE Bimes BB Deywiep 5 &, 350.
UNIT III
Rectify the following :* '
(a) An amount of Rs. 2,000 withdrawn for private use by the proprietor has been debited to
general expenses account (Dr.). .
(0 Rs. 3,000 paid on account on salary to the. cashier stands debited to his personal
_ account. : ’ : E
{¢) An account Rs. .1;500 paid for wages is posted twice to debi’t_: side of wages account.
(d) Discount column of cash book (Cr.) was under cost by Rs. 200 ¥
(e

A purchase of Rs. 2,000 from Balaji was ommitted from books completely.

S 808 T30 $66L0S :

(@
®)
©
(d)

©

025.533:1?3) 0TI argoé)‘ ;’wo& &% 8. 2,000, aﬁ-'ot;s“&ﬁe'a %)CSJ;)@J ey (Dr.) Daed. |
SoRe8% Bdod B0 0. 3,000 e ;sgms e Bl 35&3._ |

Ddresd .a‘e;qoa_xu 8. 1,500 Do aroeS’ G5 2 dod :ao_egg :é:sm é@od)._-

H18 @ggoess (Cr.) 3D ER7,0000 HED HL)D™ K& Do 8. 200.

2rof S0 Tften 33 Do 8. 2,000 HI50S® oS,

4 (1202 MC)



'12.  Following in the trial balance of Ram Lal on March 31, 2013."

Debit Balances o Rs. Credit Balances Rs.
Bank , 75,000 Capital ~2,00,000
Purchases (Adjusted) -34,96,000 Bills payable . 50,000
Salaries 21,000 Loan 1,00,000
Carriage on sales 2,500 Sales 36,00,000
Carriage on purchases - 2?000 Discount 2,000
Mghtiﬁg : i,500 Commission 500
Buildings 1,35,000 Creditors 1,00,000
Rates and Taxes 2,000 o |
Sundry debtors 40,000
Furnitire 30,000
Cash in hand 1,250
Bills Receivable . ‘ 7 7,500

Stock (31.3.2013) 3,06,250

Rates have beén prepaid -to the Extent of Rs. 600. During the year bad debts amounted to
‘Rs. 2,500. A provision @ 5% has to be made on debtors buildings have to be depreciated at

2% and furniture 'ai; 10% prepare trading and profit and loss account and the balance sheet
‘as on 31.3.2013. '

578y 31, 2013 eoker e S (508 dSoT Ko,
B2¢5 Degen 8. BaeS dogen - &,
250 - 75,000 Soreo 2,00,000

SRR (Sigeren D) ST 34,96,000 3oH Hegeo 50,000

dored 21,000 aweo 1,00,0‘00'
B0 S 2,500 edyseo 36,00,000
Eof"en Saves 2,000 Gm; 080 2,000
Se3oR - 1,500 52558 500 |
N .e;Saﬁarbg,\) y _ | : 1,35,000 " awetrden 1,00,000
Bey /S0 | | 2,000

5 ' (1202 MC)



13.

14.

B2 deoges . BAS deges &,

aes{en | 40,000

58 | - ~ 30,000
396" St N 1,250
PR Degeo - 75,000
NIoM (31-.3.2018.) o | é,ds,zso

Swothre 3ovis Bhy . 600, ¥ Sond® TRerdeorr K. 2,500, TR Sosalriy Domenr
e.meaﬁ"mm: 5% QUD&D 250:13;56 ar;ﬁa)vooa 2% @Qz-:ﬁﬁ 2 10% s508e 6§b;§;5é3. égg‘:g) @e}ﬁé%@
o 31.3.2018 763 o5 0o DGR ST Sahoo.

UNIT IV

A of Sonept consigned 500 bicycles to B of Cochin to be sold on his account at his risk. The
cost of one bicycle was Rs. 200. A paid Rs. 5,500 was freight and insurable and received
Rs. 40,000 as Advance from B. B paid Rs. 1,000 as Octroi and carriage Rs. 1,500 as rent and
Rs. 1,200 insurance. 410 bicycles were sold by B for Rs. 1,10,000. B was entitled to a
commission by 5% on sale @ Rs. 250 per bicycle and 25% of any surplus price realised. Show
the ledger accounts in the books of A?

R DoBD A 500 P §'°€}QS§J 2089 B 8§ e 80), HBIT° eﬂm&ée‘ﬁgoam Sodeeess. p8S
28,088 55 . 200. A 26 oo, adBY) Bod &, 5,500 Domed B B00d emmgdyy
8. 40,000 &romee. B egzoh Bos 8. 1,000 Saver adine 8oc 8. 1,500, 6B asomyosy
Bods 8. 1,200 domrcd. 410 DY B &, 1,10,000 ez, enyd pIS $8 28,0638
8. 250 % 2 5% 5&345 SESD 200D wAYPD otHeo '&Déooo 25% 5505550 B a%odﬁcrﬁ)é et
A @§§e>e3'5 SSIE FrEro BIHed.

A and B were participants in a Joint venture sharing proﬁt and loss in the preposition of

10 : 9 respectively. Each party maintain a complete in his own books. A supplies goods to the

value of Rs. 25,000 and incurs an expenditure of Rs..500 on them and B supplies goods to the
extent of 21,000 and his expenses there on amounted to Rs. 1,000. A sells all the goods for
Rs. 70,000 for which he in entitled to receive a commission at 5%. Accounts are settled by’
Bank draft prepare necessary accounts in the books of A.

A, B oo e398 7rrt08” (55800 erfdgrond 10 : 9 $080%080mas. 59 78 BN HIsees® T8
85°%) DERFRITD. A’ &, 25,000 e dend Ko $E%%s S50 BD &v. 500 a8y Ddwe.
B &, 21,000 o Devd &3 ;ebgm- S0 & 1,000 95300 dodmeesy. A o) IDHOK
8. 70,000 0% et o8l edysed 5% 52055 53008, [ Txo sroresy $65, 8o,

P IPHFoR ‘A HITS® @dITAS grEren Beyod.

5 | (1202 MC)



15.

16.

UNIT V

A manufacturing concern whose books are closed on 31 March, purchased machinery for

"Rs. 1,50,000 on 1%t April 2009. Additional Machinery was acquired for Rs. 40, 000 on

30t September 2010 and for Rs. 25,000 on 1t April 2012. Certain machinery, which was
purchased for Rs. 40,000 on 30t September, 2010 was sold for Rs. 34,000 on 30** September,
2012. Give Machinery account for the year ending 31.3.2013 taking in to account
depreciation at 10% per annum on the written — down value.

somsE Bog > HIwess 308y 31 & Jwfod Bath. KBS 1, 2000 B 28 cdoErRy
8. 1,50,000, 2957 ooy 5. 40,000 of Wonth 30, 2010 H &, 25,000 o D05
paboRy DS 1, 2012 FRoAter Dardd. Wyowtd 30, 2010 ¥ FRoR'er DD aboo
&7, 40,000 S . 34,000 X Tgowdh 30, 2012 eAyT. BEOSED SoSHPHE

10% S50 BryBo8) dogo SES® BRI o FrEo 31.3.2013 BOSETOBO HEL BALTE

DoHod.

A Trader maintained a provision for doubtful debts @ 5% a provision for discount @ 2% on .
debtors and reserved for discount @ 2% on creditors which on 1% January 2014 stood at

Rs. 1,500, Rs. 500 and Rs. 400 respectlvely his balances on 31st December 2014 and 2015

were as follows :

31 December, 31st December,

_ 2014 2015
Bad debts written off 1,800 300
Debtors 20,000 \ 6,000

Show bad debts and prowsmn for doubtful debts account. _
28 BEHE D Jo¥alrE 2r30d® S0 5%, 20efyeR ponTBeR Gdm;0e DB D280 2% &S
Domen Dk, 2014-15 Enoat> 31 & wobo eddy SoSEyTO% edw deged Eod dForr
&0 | - |
31122014 31.12.2015
560 TDerSey 1,800 300
e 20,000 6,000

1 w558 2014 B3 0 Bosaireys ardes doven 8. 1,500 B0 G000 DB Do
8. 500, awomed &&m,000 2% DO8 Somen &, 400. o9 & grEr, 00 SosAlrEY erded
DTm> PREED BATD B0 |

~1
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13.

14.

‘15,

16.

UNIT IV

Explain the functions of management.

DYGPes DEIVD DHBoVOE. |
Or

Disciiss the steps in planning.

oS s “Byowosd,

UNITV
Explain the principles of organization.

Hg9R Gk, JreEdooosn 358owod.
o :

Or

Explain the . difficulties in the process of

delegation.

BTEEH (D80S’ &y ‘aa)ao&em D580%o.

4 (1208 MC)

(1203 MC)

B.Com.(Gen/Res) DEGREE EXAMINATION,
- MARCII/APRIL 2016,

(Supplemeniry)
 (Examination at the end of First Year) |
f’aft 1T — Common
BUSINESS ORGANIZATION AND MANAG_}BMENT
(Regulation 2013-2014)
Time : Three hours Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following.
1. Commerce.
Ieehesgon.
2. Explain features of equity shares.

Hest3 Ther o¥eTo0 DHBoBOE,

3.  What are the advantages of joint Hindu family
business? -

Y o Krenow DY oereo Botod.



What are the <;0ni;ents of articles of association?

| ¥oDD DOHRIEESTD eomets BeSod.

LExplain the importance of leadership.

P0G (PBR 9B80H0d,

- Explain about centralization,

BoB8¥easn 800 d58ow0d.

SECTION B ——— (b x10 = 50 marks).
Answer ONE question from each unit.
UNITI
Explain the features of ‘business-.-'
T30 BB, 6&8’5"’0:63 ;):)60;5663.
| Or |

What is meant by entrepreneur? Explain
characteristics of entrepreneur, '

doss [236?55 OITRD?  JotdRdrE  Booy),

o¥red dH80Nos. | |
2 ‘ (1203 MC)

10.

11.

- 12,

"UNIT 1T

Explain the advantages and disadvantages of sole
trading.

RROBTEEH0 Y, HRreTer LB Ere
d5BoWod. |
Or
Discuss the features of partnership.,
ByReg0g K)Oé) &Boo¥); oFgTen HBYyoWodk,
UNIT 11T

Explain the differences between private and public

~ companies.

5565 2080y 598 Sovbo Bolfy BgEgSnom
29801508, | |
Or

Explain  the clauses of memorandum of
association. ‘ -

Roged HBoSD sare 9580Bod.

3 (1208 MO)



12.

i3.

(@)

()

(a) -

(b)

Explain creation of table using Tabie wizard

in MS-Access.

MS-Access &°. Table-wizard & &5@rRod

table 50 B0 DFHNH BV,

Or

Explain creation of presentations in
MS-Power Point, manually and also by using

aute content wizard.

MS-558  2ran085¢5°  [5e3508330R SrRogdSme

HoBafo auto content wizard & &563Rod D
Desorr Bars® BewHidw. |

Write the services available on Internet.

ROLIGYES TRO° w0y DHe% g_;)voinm

Or .
What is E-commerce? What are the
advantages and disadvantages of

E-COmmel;ce?
E-comnierce e9:5me D0ed? E-cohnnercc cﬁaoéb
egs, a‘)%em K8y deyyods.

4 (1204 MC)

(1204 MC)

B‘.Com.(Gen'./Rest oc) DEGREE EXAMINATION,
' MARCH/APRIL 2018.

(Supplementary) ‘
(Examination at the end of First Year)
Part If — Common

FUNDAMENTALS OF INFORMATION
TECHNOLOGY

(Regulation 2013-14)

Time : Three hours Maximum : 70 maxrks
SECTION A — (5 x 4 = 20 marks)
Answer any FIVE of the following.
1.~ What are the characteristics of computers?
Eagygeol offeror 580w,
2. What are the difference hetween Tele-conference

and Video-conference?

Tele conference - 08030 Video-conference o :33(}55
éé@"é@b@?ﬁ) deyods.
3. Explain the purpose of disk operating systemni.

¢y, esKiBEIOR DY Erd0PgHRs 95BoBod.



Write about Virus protection,
DBD BEes BITIN?

What is word processing and its features?
55 rRR0R eRITIN? o0 ofEretd 2580HB0.

How can you create a new worksheet?

§°8 5850 e Domes BH?

State the procedﬁre to create a form in MS-Access,
© MS-Access &% form 2o QRoVerDs  SowoBodd

IR B0y,

List the common multimedia presentation devices.

WPWEAr,  PHeoBisd®  &d@rRom  ¥B¥redy
Benods. ‘

 SECTION B = (5 x 10 = 50 marks)

()

Answer the following questions.

What do you mean by computer memory?
Explain different types of inemories.

§o@'°§605- W08 eITRD?  2AF  Sse-

2522080 80 ey

Or
2 (1204 MC)

10.

11.

(b)

(a)

(b)

(a)

(b)

What is Network and explain types of

_ Network LAN, WAN and MAN. 7
SRy, @b DWB? 2de HSy, By

95809050, LAN, WAN D800 MAN.

Define - Windows operating system and
explain various functions of task bar.
206 e3558630R %QS}K}) DEDOD, eTxy, erb

3020800 DY DO Beyd.

Or -
Explain -about DOS internal and external
commands.
98¢ $5783% DOS internal H$oB0%w external

commands A58y H5BoHH0.

What is template? Kxplain how to wuse
templates in MS-Word.
BoPts wdFRN? MS-Word ot 8oge5en

Jer &B@IRowrd® 95800k,

Or ,
How c¢an you create a new worksheet?

_ Explain any five in-built mathematical

functions in Access. :
50 $BpheSio dor Domen Bah? 9HSS®
SrOLIDBD ek DR 08> BTEBES HogdH
@ena)é..’n). -

3 (1204 MC)
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B.Com. (Vocational) DEGREE EXAMINATION, MARCH/APRIL 2016.
o (Supplementary) |
(Examinatio‘n at the end of First Year)
Part II - IT Procedure and Practice
INDIAN TAX SYSTEM AND INCOME TAX LAW
| (Regulation 2013-2014)
Time : Three hours : : Maximum : 70 marks
| SECTION A — (4 x 5 = 20 marks)
Answer ahy FOUR of the following.

1. Differences between tax evasion and tax avoidance.

S0y Bood B0 s 5:6301 JHHBE Qogy Mo Brrody 998oHEw.

Lo

Rent free house.

2B Ky DS,

3. Deductions U/S 24.

NES 24 (35°80 BRoDen.

4 Public Provident Fund (P.P.F).

(e 2;553?’.35 8.

Short term capital gain.

[}

- Rs3edE Sorredsy ergo.

6. Income features.

esTealy OFET0.

7. Set off carry forward losses.

Mge H82 B0t TRy

8. See “C” deductions.

W55 “C7 50 BRoHeo,




10.

11.

13.

SECTION B — (5 x 10 = 50 marks)
Answer ONE ‘question from each Unit.
UNIT I

Explam the exempted income from tax U/S 10.

IR 1085°0 esrrdHody TS 10 (5585w 2580808,

Or

Explain about Indian Tax systems.

| FEHAD By DEHRLB 2580550,

CUNITII

Deﬁne agricultural i income, explain partly agriculture and partly business income.

DR eSS VYDOD, 88 DFRAd oo Ho8cn §E Tl errasrry 05805

Or
Various types of taxes. Explain.
224 B0 SgeRd. DIBoHID.
. UNIT III
From the particulars given below compute his Gross Salary :
" Particulars Rs.

(a) Salary - ' ' ’ -1,48,000
() Bonus | 12,000
(¢} Furnished flat provided to the employee at Kanpuxr

{(population above 25 lakhs) for which actual rent A

paid by the company : 78,000
(d) Rent received from the employee 12,000
(é) Furniture at cost (including television, Frldge

and Air conditional) ' - 50,000

BI6% D070 Dol Bre Poxy B 0P

(a)
(b)
(c)

(d)

(e)

- QHTRED E°,
Bho - 1,48,000
SRO | | . © 12,000

SDETETOS’ Lrdd 629 $308 (warpe 25 o¥epre)

EoDd BYo2% | 78,000

G 908 S 309 I S 12,000

5438 pbeo (B.0. 08, Al &) 50,000
o Or

b

(1602 MC)



14. A house was completed on April 1, 2006 and following information is available about this
house '

- Municipal value of the house Rs. 36, 000 p.a.
Fair rental value of the house Rs. 35,000 p.a.
Actual Rent Rs. 4,000 p.m. |
Municipal Taxes Rs. 6,000 p.a. _
Let out for the period 1.4.2006 to 31.12.2006 and séif occupied from 1.1-.2007 onwards
Fire insurance premium Rs. 3,600 |
Land revenue Rs. 6,000 .
Interest on loan for the perio& S
() 1.4.2003 to 31.3.2006 Rs. 45,000
(b)  1.4.2006 to 31.3.2007 Rs. 15,000.

Calculate income from the house property for the previous year ending on 31.3.2007.

2.8 ﬁa&mm S 1, 2006 DBYoTRESB, ©0t5% BoROBO BEHL0 BRD :o_é;scm SRON ¢
;’113&)‘3‘595 aém Sond 8. 36,000 |

S & Devis Soid 7. 35,000

TGS & DeH . 4,000

S0BSE Idyew Sois 6,000

1.4.2006 200& 31.12;2006 5158 eﬁég% 1.1.2007 006 @ro® m&amga ;ssaos:a;sgé;;.

of) DI DBk & 3,600 - |

25520 8% &, 8,000

émeeo"’g)_ ;Bé
(2) 1.4.2008 o0& 31.3.2006 &. 45,000

(b)  1.4.2006 Bo0& 31.3.2007 &r. 15,000.

31.3.2007 & wosdodlyy M6 Sondd Myd) B0 ewdbo B8 on@a.

S (1602 MC)




UNIT IV

- 15.  From the following particulars, corﬁpute the business income of Mr S. Ranganathan :

(a)

(b)
(©

BB 2DEINE 308 S. BoKrES e Ao é’3§boag)a’m :

To Salaries
To Rent and taxes

To Service charges

To Legal expenses

To Reserve for income tax

To Depreciation

To Expenses on a question of
patents rights

To Office expenses

To ‘Contribution to RPF

To Bad debts

To Donations to NDF

To Net profit .

Rs.
90,_000
20,000

4,000

5,000

6,000 -

12,000

56,000
42,000
12,000

4,500

2,500

. 1,05,600
- 3,569,600

. Rs.

By Gross pfoﬁt '~ 3,50,000
By Dividend 4,000
By Bad debts recovered .
(éllowed earlier) ' 4,400
By Interest from post office
Savings Bank - 1,200

3,59,600

Legal expenses include Rs. 2,000 incurred by assessee for defendmcr a case for damages
for breach of contract which was decided in favor of assessee.

Deprecmtlon of the year on all assets other than patent rights is Rs 16,900
Contribution to RPF due on 31.8. ‘7007 Rs. 2,000.

To-doeen
~ To &3 Syeo
To v o8en
To Wéétb 28en
To escraing Sy Bestg
To $85050
To D8085 T80 DEses
To seog0d%0 3363‘3&)7

To RPF £ S0

8o,
90,000
20,000

4,000
5,000
6,000
12,000
56,000
42,000

12,000

&I,

By Spoergo © ~3,50,000
By &a2o& 4,000
iay B8R 388 oroerden | )
(KBos® @ébéﬁ@o&é@) 4,400
By 2> Da0f | |
aJ‘;zsogo D006 éé | 1,200

(1602 MC)



16.

(a)

@)
)

5. e

To méaafgen : 4,500

To erd0%> Sger DBS sodo 2500
' To 085 erio . 1,05,600

3,59,600 359,600

wipapd eRoEreoT dFonodads &égoéso 8E3p HPHBTE0 S VowoBodid THo%H
S50 BEHB0 K7, 2,000 T PENoS® 50y &
Jow0fH 301H80S° @RBBVER BLMHGSe &, 16,900

31.8.2007 &t RPF & B0wee® . 2,000 252c0Hds 2o 590 &08.
| or

Compute the total income of Mr. Kiran, a lecturer of Nagarjuna university for the
assessment year 2006-2007 on the basis of the following particulars :

()

(b)
(c)
(d)

(e);
- ®

()
(h)

Salary @ Rs. 3,000 per month

Dearness allowance @ 100% of salary
Wardenship allowance @ Rs. 150 per month
Royalty from books Rs. 2,000. 4
Winnings from lottery (Net) Rs. 13,880

Interest on bank deposits Rs. 6,000 .
Expenses on purchase of lottery tickets Rs. 5,000

Examiner ship remuneration Rs. 2,000.

TR oimb:’a%e%éﬁ BEbre B0 :5‘\13:6& & §6e‘§ SBoo¥), 2006- 07 coonéaé eacy’dia DI @o&

DEOMT ETH0N.

(a)
(b)
(e

(d)

(e)
)

oL dso 8. 3,000

EDEE50 BBoS’ 160%

TBIND F5o I 8. 150

DIFoP oA &, 20,000

eeb 2008 Reohen K. 13,880

WrgoEd G H& 87 6,000

EJ"é,Jé €38),003 STROR 0K eaoooé Sgok0 & 5,000

_ Qmmégiﬁé BS&Peo 5. 2,000

eaé:’yéo B, B0 eTee €3§boag)mo

5 B (1602 MC)




AINIT V

- 17.  Mr. G. Sen own houses at Bombey and Bangalore. These houses run for races at the
racecourse. During the year 2006-07. Mr. Sen submits the following information :

. 18.

{a)
(b)

()

(d)

Expenses on race horses at Bombay Rs. 2,60,000

Expenses on race horses at Banglore Rs. 4,30,000

Stake money eaxrned by houses at

()  Bombay Rs. 1,20.000

(1i) Bangalore Rs. 5,00,000.

Mr. G. Sen received Rs. 1,04,100 on 1.7.2006 on betting during horse races at Bombay.

Compute his taxable income under other sources.

& G %S Soowrand®y Bbaty Botirtd B SUS’ SFR Kege abedr 2008-07

2020809 Bl IDTrey

(a)
(b
(c)

(d)

500 e DY (Howoerans?) & 2,60,000

208 Foggep )y (BoroHr) & 4,30,000

Foggo Resp $ay8 (§501) 2850
1) Bwozronnd® 8. 1,20,000
i) BoKwdrs &r. 5,00,000.

& G B8 30002renS® Hge $0Boe) RODNOED K. 1,04,100 SEr8R8.

2B D3O $0& BTEaho BE0RIDN.

Or

How would you determine the residential states of a person?

D& 38 2T (BFBIGR D dgore dTBoBNOY?

6 | (1602 MC)
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B.Com. (Vocational) DEGREE EXAMINATION, MARCE/APRIL 2016.
' (Supplementary) '
(Exdmination at the end of First Year) ‘
Part - 11 : i’i‘ Procedure and Practice
CENTRAL SALES TAX AND AP VAT Proc. & Prac.
 (Regulation 2013-14)

Time : 'Thfee hours | : 7 ' Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.

1.  What are the salient features of the Central Sales Tax Act 19567

BolBaH &3R¥o Iy Do 1856 Bwy); o¥erory H580HRw.

_1,\')

Write a short note on casual trader.
- Casual D007 ) 050 TR AR,
- 3. Discuss the advantages of VAT.
- VAT B, [SSBresmroiy 5808580,

4.  Define the following terms under VAT law.
(a) Declined goods -

(d) Gross turnover.

Devd emds 52y ssore &5 808 TH3D DHBOHH |
(@) SE8B SoHeo
@) Spoedies. o . .

5. °. What are the features of SEZ?

DE @k, ogerdo?

" 8. What is inter state trade of commerce?_

eaoéfwgms%aé BRI D7



~

10.

11.

12.

13.

.What are the elements of inter state trade?

©OBTR SO ©oTB?

- What are the objectives of VAT?

E}‘°§é§ B0E), &é?éen D20637
SECTION B — (5 x 10 = 50 marks)
Answer ,ONE question from each Unit.

UNIT I

What is VAT? Explain the significance of VAT.
TS e D202 VAT Gog), @riooas Betod.

Or

- What are the_ features and disadvantages of VAT? .
- S By, ogsTe, $820B0eR 39BoHIV.

- UNITII
lustrate the turnover with suitable examples write a note on rules regarding determination
of turnover. '

028080 ésébo—:scsv:aé SHOR DFPBIPRL SO éemméea@@s 3:’360@;’)03
Or

Explain various exemptions from CST.

 Bofah 230380 55y 2009 D WFon0He 95Bowod.

. - o - UNITIN

From the following information compute the taxable turn over of Mr. X (a dealer) under
CST Act.

_ Rs. -
(a) GCross amount received (or) receivable by the dealexr during the quarter
(excluding the sales tax) : - _ 16,00,000.
() Sale of goods out side the state : - ' o 1,00,000
(¢) State of goods in course of export outside India ' 3,00,000
(d) Costof frelght and installation charged separately but mcluded in the _ :
turnover (In case of inter state sale) _ , - 10,000

(e) Subsequent sale in the course of inter state trade to a registered dealer  3,90,000

bo

(1603 MC)



14.

&9 808 DT70 200 Mr. X ¢ Eob Qg 53y dfodad edsdte CST H4o [Sso8o B§,0808% : .

(@) 2ardEes’ Geb oieds Bo Ao 8o (e:sa"oi) 5789 QOB)

(b) Uwo T.'bexm@ aa;ﬁoésw@o

(e) egvcs@z%:éo Dene BEND BB

@D pam o BB 365 6k T ascbaeu 2630 &956:66‘5 £8% B,

(eﬂoécm DRSO 23063;6:))

(e) 03538 B8 0BTV, ea;’w&s"en

Or

o

16,00,000
1,00,000

3,00,000

10,000

3,80,000

The gross turnover of a registered dealer is Rs. 20,00,000. From the following 1nformat10n

compute his taxable turnover under CST act.

Rs.

(2) Sales price of exempted goods | 4,00,000
()  Export from India S | 3,00,000
(© Sale with in state - | 4,00,000
(d) Good returned under Inter-state trade - . 50,000

(e)  Rate of tax on interstate trade
- Re. 5,00,000 @ 10%
Rs.°3,50,000 @ 3%

_ The dealer has not submitted any form to the authorities.

28 8&;.}5 &b é&mgb K)J(;e) @089 65° 20,00,000 &: 808 ddTeen Jorafo8t CST {5%30 :[555%50

59 DBOBERD e BY0VOS :

‘ 5.

(2)  2oBFon0BRES $HR) eByso &3 = 4,00,000°
©)  orosme  3,00,000
© TgoS” eRgstey -  4,00,000

(@ wosog 558" T8k I Shyde - 50,000

() woBoeg S8%od® By By

&5. 5,00,000 @ 10%
4. 3.50,000 @ 3%.
&ob Qé\pﬁ)oeﬁ ooty w8808 SR8 0%Bso.

3
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15.

16.

17.

18.

UNIT IV
Differences between form C and form D. -
D 97528 800 & 50 Doy HyTFrB?
Or

What are the VAT rates? Explain the working of VAT with thé help of a hypothetical
example. '

VAT Besg 085 D063 [582m5% &Grisen $irabos® VAT Sy dawargy 9960050,

UNIT V

From the following particular calculate tax credit on input/sui)plieé.
Particulars Amount

Input procured with in a state | Rs. 5,00,000 '
Output sold during the month Rs. 10,00,000
Rate of tax _ T 10%

e $o8 5;5&@ Bo0d SRy BaS @%boéoc%':
| DATERY o ?mé_fgo
Ug}oe‘isée SHS O gr. 5,00,000
(5598 Bo w20 688 60 10,00,000
SAydes - ' 10%
Or
Calculate‘net tax payable from the following inforﬁaation :
(a) Taxable turnover Rs. 50 Lac VAT rate 10% '

' (b) Purchase tax Rs. 3 Lac '
(¢} Input tax credit eligible Rs. 2 Lac. '

808 BArTBo errtore BYoDeDS DEEIY D050 ;

() DRy dGoval SN0 8. 5O ofen Sy Bew 10%
(b)  STRoR°sy 5y 8. 3,00,000

(©  ammsy Sy BAS &, 2,00,000.

4 - B (1603 MC)
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“ B.Com.(Honours) DEGREE EXAMINATION, MARCH/APRIL 2018.
| | (Sﬁp'plemeqtaryj
(Examinatioﬁ at the end of First Year) -
| Part IT |
BUSINESS ORGANIZATION AND MANAGEMENT
(Regulation 2013-2014)
Time : Three hours | }‘ | Maximﬁm : 70 marks
SECTION A — (5 x 2= 10 marks)
Answer any FIVE questions. |

1. Business.

TRRE0.
2. Minor partner.

R e,
3.  Promoter.

Saoeenb.
4. . Regisfration;

Eond SA0-e.
5. Decentralization.

DBoBESes.
6.. ’-Ux.‘lity é}f command.

5T DEBLI.

7. Decision making.

gk B,

8. Karta.




. 10.

11.

13,

14.

15.

16.

17.

SECTION B — (5 X 4 = 20 marks)
Answer any FIVE questions.
Write about any.four aids to trade.

DR wrey DY DEITeAre) K8y Erao.

Joint Hindu Family business types.

és’w&é SPOET 58002 5?5:{)?‘;) BES0w.

Explain the features of ideal partnership.

: e5CS%) FIRegR50 Boo¥); O¥ETOR 25803506, .

Write about afticles of association.

DEHRTHO K78y IR,

What are the features co-operative societies?

B8 KoFe ), ofeTen D3?

State the benefits of scientific management.

& TR DEFTEs Boo¥), EIBITPORd BegySoo.

What are the characteristic of planning?

Per0E S0, oo D207

State the features of organization.

- S50 SBook); wFETes BRI

SECTION C — (5 x 8 = 40 marks)

Answer the following questions.

(2) Explain about the concepts of business, trade, industry and commerce.

g0, Sisan, Trebmgin S0BaH) SBES 6 Sarey 2360D0d.

Or

(b) Explain the objectives of a business.
TR ook B00a)y EFEFH0OR DHBOTH.

2



18.

19.

20.

21.

(a)

(b)

(a)

(b)

(a)

(b)

' @

(b)

Explain rights and duties of partner.
IR0 G008y, TP, B0 DEILR HHB0HID.
. Or
What is partnership deed? Discuss its main contents.

PHRgRIg 2sfy0lsHn @085 bmé%? 05 -:ﬁna)é 0T KBy Erosk.

Explain the different stages of company formation.

LoDR DRALSHS” 24 WHoky 29Bovod.

Or

What is memorandum of association? Explain its clauses.

BoRpSH Bio eRMRN? ©oRE%D TareRn 9PBoHB.

Discuss the steps in planning.

HErD8E5es™ oo BBy0DR0.

Or

State the meaning of decision making. What are the steps involved in decision making?

DY PIBCH OBTH? DY HEHS® A & Sdew S22

Distinguish between formal and informal org'anization.l

O3 (SO, oD [FaosD DY MiyTe Brresy Doy, '

Or
What is delegation of authority? State the problems involved in délegation of authority.

WA [SER0 OXTR? ©f58 PErHoS® wd0d DYy }6;’135565313?

_ o @sen)
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B.Cém. (Honours) DEGREE EXAM‘INATION , MARCH/APRIL 2016.
(Supplementry)
(Examination at the end of First Year)
Part II
FINANCIAL ACCOUNTING
(Regulation 2013-2014)
Time : Three hours : : : o Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks) '
Answer any FOUR of the following.

Each question carries equal marks.
1. . Write the limitations of financial accounting.

HeasEego @ook); SBuuety @Tahod.

Lo

Write different subsidiary books.
DIE STADE VETOR [FrAhod.
3. Wﬁte different typés of errors.

DG 8570 BIPOD Frohod. |
4. Difference between consignment and joint vént;ure.‘

ESpS20065% SoBatw SBRG TT08 Boisy BPo.
5. Capital receipts. | | 7

| ﬁmodﬁ?@ DATEY. N
- 6. Write the need fo'r pfoviding depreciation.
BEIOGO oK Ho es85E8:R0 FraHod.
| SECTION B — (5 x 10 = 50 marks)
Answer any ONE question from each Unit.

Each question carries equal marks.

, - UNIT I .
- 7. Journalize the following transactions in the books of Kapil.
2015, March o Rs.

1 Started business with cash . - 45,000
2 ‘Paid into bank 25,000
3 Goods purchased for éash 15,000

5 Purchase of furniture by cheque 5,000
8

~ Sold goods to Aravind 4,000




8.

10
12

18

25.

30

576y 2015

1

25

30

Goods purchased from Amruth
Goods ret_ﬁrned to Amruth
Cash received from Aravind
Allowed discount

Goods used for pérsonal use
Salaries paid to staff

8 D5et0d 208% BI0D SPTTeR 2eF DERes FIAD.

Tgec0 Er80D0B0eE B -
B |

l 35°§o§.>65 2900358

SHISOK HE TR0
DK, T ;)6&683 SO S
80085 HHWH edyso
508 5008 B TRoer

9 D0H8 T DD JBDH

- 08208 2008 SEIBH B

©B08 ©RRB0DD G0
2roTrd8 FPEER) DB

dapyoss e@@*@%@o@

1,000.
200

3,760
240 -
400

2500

Es.

45,000

400

2,500

Record the following transactions in the appropriate subsidiary books.

- 20 13, February

1

Purchased from Madhu
(Trade discount 10%)

“Goods sold to‘Pandu .
(Trade discount 5%) -

Saraswathi’ sold goods to us

© 10
15

Yadagiri purchased goods from us
Purchased from Mohan for cash
Purchased from Pr.asad on credit
Sold goods to Srikanth

2

Rs.-
5,000

2,000

1,000

2,000
1,500
. 3,000
2,500

(1902)



BI0OB BgSFTren SBD BIAE Deps’® $are Sdhod.

12013, D@58

1

9.  From the following particulars prepare three column cash book of Snit. Tejaswini.

2015, March
1

15
17
25
30

10

15

10%) E |
| S0 B eBuEo(S8ED
Garp,085 5%)

DB SR RN JB

AIERB HoR Bood BRoRtey
BRS Boo PRSI SRRty -

B B00& @fHHnH TR

F508% S80% edyso

UNIT II

Cash in hand

Cash at bénk

Purchased for cash

Received from Y

Discount allowed

Cash remitted into bank (deposited)

Cash sales Rs. 1,500 of which Rs. 500 was

deposited into bank

Withdrawn from the bank for ofﬁce use

Paid wages

Cash sales

‘Paid to X Rs. 480 an’d discount received

B0%50 $008 TR0 (5589 om0

Rs.

5,000

Rs.
2,000

- 3,000

1,000
3,960

40
2,000

1,000

200
500
20

BIHD 3o 206 b Bagd o), Bt S8Be DK DeT B Dahod.

58y 2015,
1

BSOS Bresa
wéowsm

518 SOy

s,

2,000

3,000

1,000

© (1902)



10:

5 Y %006 DR ' 3,960

e @RIBIHOD B0 S 40
9 ePgOK%> SoDS HKE (&S BE) 2,000
2 s eigsren 857 1,500 080&° 500 a&néogaé“’

| Bae2eS BB
15 B 505 erp 008 SRS | - 1,000 .'
17 Sdmreo 300D o 200
25 AN eﬂ:):gs“@o - 00
30 X & 6. 480 380D 503 &m,oé | 20

From the following particulars prepare Sanjay’s Bank Reconciliation Statement as on
31-03-2013. '

(2) Overdraft balance as per pass book Rs. 10,000.

(b) Cheques deposited into bank Rs. 5,000 out of Whlch only cheques of Rs. 2,000 have been -
collected.

(¢) Cheques issued Rs. 1,500 but not presented for payment in the bank. |
(d) A customer directly pald into bank Rs. 1,200. _
(e) Bank charges Rs. 200; Insurance premium Rs. 500 debl’ced in pass book only.

() An amount Rs. 300 have been collected as d;wdend by bank but not recorded in cash
book. ' : '

8RS D5 oo Bomc B, arot PagLS SR SG¥RH 31.3.2015 Hairts Bapod.
(@) &9 wf xS0 arp 895 (7R Deg 8. 10,000.

®) & 5,000 deus Ko Diye0 argeS” Ear2eS Dobore, ©0%08° Sre. 2,000 2e0d Ko D)0

SRTBITOn.
© . 1,500 D 28 ot ergetd DYOTHD TRes V.
@) o AT arpH 3008 . 1,200.

(&) wryo fen &, 200, £E5° (P00 8. 500, 25e0ES” By B Daadsd.

® o GoBod Hireo B 8. 300 B HFFoS” S BaHE .

4 | . (1902)



11.

UNIT I

From the Trial balance of Kumar, prepare final accounts for the year ended 31-12-2009.

Debit balances Rs.- -+ <Credit balances
Purchases - 68,000 Sales
Salaries - ‘ : 1,500 Capital
Rent _ 1,000 Creditors .
Insurance - - 1,000 Commission
Debtors 20,000 Provision for bad debts
Plant - . 50,000 Bills payable
Furniture 9,000
.Cash at bank 20,000
Opening stock - 25,000
Bills receivables 16,000
Wages _ 1,600
2,13,100
- Adjustments :
(a) Closing stock on 31-12-2009 was Rs. 30,000.
(b) = Outstanding salaries Rs. 200.
(¢) Depreciate plant by 10% and furniture 5%,
' (d) Provide 5% reserve for bad debts on debtors.
(e} Prepaid wages Rs. 100:

BDE; DYgeo g = X)@og@o

SRRy -~ 88000 enymes

Sewen _ 1,500 sy3ems0 |

®% . o L000 gnesmen

S e ;mo@mg

aoesyiiyen 20,000 g o8 575 bc:jan

TTAY | . 50,000 290D Deen .
oyt = 9,000

e’ Br 20,000
o % 25,000

Sires meges 16,000

A mgoe) . : 1,600

.

Rs.
99,000
80,000
25,000
2,000
2,100
5,000

2,13,100

SN GBook); BB woser Sood 81.12.2009 eosBodleg Sondd éooﬁoog) E3§ZJ®:> éfao‘iﬁtia?idbo&

99,000

. 80,000
25,000 -
2,000

2,13,100

(1902)



- 13,

c\)%)&)‘&‘g T

(@) 31-12-2009 % B0R0D HHK 8. 30,000.

(b) DDoIHLD daren K. 200.

(@ 200D 10% $BB%D 5% BHHEe Do Sakod.

(@) 20eped o0 2rde Domew §BH 5% Domen Dahod.

@ S0 B0 Bwren &7, 100.

Rectify the following errors and prepare Suspense Account.

(a) Good purchésed- from Mani for Rs. 800 passed througﬁ Sales book.

(b) Received a bill from Arun for Rs. 500 passed through bills payable boék.

{¢) Anitem of Rs. 150 relating to prepaid rent has omitted to be brought forward.
(d) . Rs. 500 baid to Hari were debited to Giri account.

(e) Sales day book was over cast by Rs. 200.

(®  Goods sold to Krishna for Rs. 430 has been credited to Rs. 340.

3] _ Salaries paid Rs. 890 posted to salaries account as Rs. 880.

BHD Bippokd $H8es HERY TR, HTHBY TR BATEBADE.
(a) %08 20d 7% 8re. 300 © HHK BiyFe JIEINS® Erabadod. |

(b) o5 5008 59y S8rer dey &, 500 Do By HIEINS FrabnEod.

(@) Bw0osorT Yo € K. 150 $37e Do $8OT.

(D) B8 DYoDH K. 500 B arers® BeaeS SoHERRE.

()  wByS o DLW &, 200 IS HAET.

S ey &, 430 e 9B PES” drr. 340 m S30 Baeiso.

() - Bmreorr &, 890 &0 3Y0d dero ERS® K. 980 e HATE BT,

UNITIV

Ashok sent goods on consignment basis to Srinivas whose cost was Rs. 16,000 at a profarma
invoice price of cost plus 25% and spent Rs. 1,500 on freight charges. Srinivas accepted a bill
for Rs. 16,000 immediately on receiving goods. His expenses were Rs. 200 as rent and Rs. 100
as insurance. Srinivas sold 3/4 of goods for Rs. 19,500 part of sales were credit and one
customer failed to pay Rs. 400 as per agreement 10% commission on invoice price and 20% on

price realized over and above the invoice price. Prepare necessary ledger accounts in the
books of Ashok. ‘

6 ' ' ' (1902j



14.

15.

55, %’mjm_ti) tb‘D 18,000 9e0% r‘(e) BB B8RP 25% £8 £5% pIB00sy Sodrey. Toerd
- 8. 1,500 6@20&?&&3. @’;3)33% B naoggao{’.}é Dotom 80, 18,000 Dey eRTBodTrd. AgoR e

Ero. 200 3078 & 100 290D ¥ Do B & 19,500 é)lwmé?bﬁcéo. DD siyses’ o
ar8en 87°. 400 2530850 (5750 S305S armgonD &5 5% 10% e 20%.

oS Hises® @éb@jﬁ e:s:étg;ar@vm Erahod.

A and B undertake jointly construction of a building for Rs. 60,000 payable as Rs. 48,000
cash and Rs. 12,000 as fully paid shares of the company. A joint bank account opened in
which A paid Rs. 15,000 and B paid Rs. 9,000. They share profits and losses in the proportion
of 2/3 and 1/3 respectwely :

The construction details as follows :

Material Rs. 42,000; Wages Rs. 18,000; Material supplied by A Rs. 3,000; Material supplied
by B Rs. 2,400; Architect’s feé paid by A Rs. 1,200: The contract was completed and the price
duly received in cash and shares. The joint venture was closed by A taking shares for
Rs. 9,600 and B taking up closing stock of material for Rs. 1,800.

Show the necessary ledger accounts.

A 208000 B o> adndre of §50 0umeR) &0, 60,000 0% TSGR0, 459 Foprgy seod

. 48,000 SKETR, 8. 12,0005°8M 30dd wrere ErSane R Sdron. T &S0 2rgoH

TR @000 AL 15,000, B 657.9,000 G065 DImrto. 36 erissape ARG SET 2/3
08w 1/3. ' |

PN DTYEs PN g)éc‘m
20838098 42,000

JTren 18,000

A D850 D% 2086aH Sy 3,000

B 3550° 3% e88aH &) 2,400
A Do ©8,8F & 1,200

SOLErE DB BoBE. B HoBAD Teres HAyTan. Tereid A 857, 6,600 2RIS 30e36cHS) B
857, 1,800 o) ST, ebdsRd dind Tes grwreds @ahod.
| UNIT ¥ -

On 1.1.2001 X Company Ltd. purchased a machine for Rs. 60,000 and Rs. 20,000 were spent
on its erection immediately. On 1-7-2002 another machine was purchased for Rs. 52,000 and
on 1-7-2003 the first machine was sold for Rs. 64,000. On the same date another machine
was purchased for Rs. 50,000. On 1-7-2004 the second machine was sold for Rs. 46,000.
Deprecnatmn was. provided on the machme @ 10% p.a. on the original cost annually, on -
31t December.

Prepare machine account for the above four calendar years. I
' T ' - (1902)




176.

X 030 82058 T 1.12.2001 2.8 SHoanso &7, 60,0008 §%f%e0 BY Doesd o s
DasB0 &, 20,000 By B3, 1.7.2002 % $6° Aoy 8. 52,000 6 S8 1.7.2008%
200883 aboErgy 8. 54,000 e @9y ¢B BAB 2B8ENY dooERy &, 50,000 6% FAte
328, 1.7.20045 Boks aoEeR &1 46,000 0 ayss. [$8 Soudo Enoab 31 % 6 sdes
Ded JouRd 10% TipR BHHGSeH o BB, PO Trewky spoud ‘éoééoémma‘p
CH0B0 TR HATHDAOS.

Mahesh provided Rs. 12,000 as reserve at repairs every yvear. The actual expenses incurred

" by him for repairs in the year 2012 is Rs. 6,000; in 2013 Rs. 9,600 and. in 2014 Rs. 11,000.

Prepare the reserve for repairs account for the ending of 31 December, 2014,
DR 138 Sodio B1Y Bestugd B 12,000 donen D AbTgorr wond 8hdy 2012
SodEyBeS® 8. 6,000, 2018 & 8. 2014 &° &, 11,000 31 Swowb 2014 H8%H B

Soseyore BHY Beasts PrER0 BATEHA0E.

8 (1902)



15.

16..

17.

18.

Define Inflation and explain the causes of

inflation.
53 epesoi REgHOD, L&S*é@)a)eeo;‘f)é) Ko se8eanen

@m‘\){l}:}.

Explam liquidity theory of 1nterest

55T 5D drgoBn HG) :):)aomm)

Explain abouf Balanced growth theory.

S0%00% 58 HERoBS KB HIBODIS.

Dxplam the achlevements of five year plans in
Indla

grtsth H0BHY BerdEes® Hoad desdires @ebujﬁn.

4 | (1903)

Time : Thl o hours

(1903)

B.Com, (Honours) DEGREE EXAMINATION,
" MARCH/APRIL 2018,

(Supplementary)
@xa111ination at the énd of First Year).
Part —II
MANAGERIAL ECONOMICS _
(Regulatmn 2013- 2014)
Maximum : 70'marks
SECTION A — (4 x 5= 20 marks)

Answer any FOUR of the following questions.

JExplain opportunity cost principle.

@5 D0 BreHoe BSBodod.
Individual demand and market demand.
55811 G506 $0005 $70ES ABrob.
Explain ﬁrodﬁction function.

&8 DO DHBOWIDW.



Explain about returns to scale.

BEBRBB0D BBPerey HBY Fro5H0.

Explain features of monopoly.

b§3313§)3§.;ﬁj"6be§ e)g\ea‘ﬁnen @enq);ip.

Write about types of plans,
Der0X BV KBy Eroson.

Write about Big—push theory.
erBigyesseo DEroBin Kl Frabudn,

Explain types of inflation. |
55°5enyen B8RS00 IBBoWIM.

SECTION B — (5 x 10 = 50 marks)

Answer any FIVE questions.

Explain the concept of elasticity of demand. How it
is measured?

- &S0l g gD 89809, BD Jer Sers’

@m&);ﬁi).

- 2 (1903)

10.

11,
.12

13.

14,

"Explain the price determination under perfect

competition.
SoTry  SBSIRBST 8 Rgabods KB

25B8oH0D0.

Explain the price determination under oligopoly.

56208 uagoS® essDgoN0 K18 Begyd.

Explain nature and scope of macro economics,

K)J(;e) aagra“’géao ‘éogas";ﬁ;’)w, H88 9HBoB.

Discuss the various methods calculating national

income.

dorahose S 0% Sgdves KB
58y00H0. |

Explain the cauées of trade cycles.

TERBHE DD Ho seEeasnen 3)?.’3'80;5,)@.
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B.Com. (Honours) DEGREE EXAMINATION, MARCE/APRIL 2016.
| (Supplementary) - |
(Examination at the end of First Year)
_ Part 1l
QUANTITATIVE TECHNIQUES - I
(Regulation 2013-2014)

Time : Three hours - : - ' | | 7 | Maximum : 70 marks

SECTION A'— (5 x 4 = 20 marks) -

Answer ény FIVE questions.

1.  Mention the advantages of statistics. |

Hezof &3 @&P&mé:ﬁa 28780k

1o

Primary data Vs Secondary data.
| @rEanE Seroso Vs Bgdah S80%0.
3. Tabulation.
585te.
4. Write about ogive curves.
L850 SEdpe 18y Erahod.
5.  Uses of pie diagrams.
'gi DBSere ANY); GIETITLD.
6. What are the advantages of range?
TR B0, SIETTEO0 D07
7. Define quartile deviation.

SBoToS DBOTRY 00Dk,
[+

8. . Mention the uses of diagrams. -

DB ESDBITEOR DEN0G.




SECTION B — (5 x 10 = 50 marks)

Answer the following questions.-

() Draw sub-divided bar diagram. 7 o ' v

Year . 2001-02 2002-03 2003-04
Arts Students. 120 100 120
Science Students 80 90 - 80
Commerce Students 160 | 170 190

Total Students _ 360 360 390

&5 Derdd ord Serdy) Adkod.
| Sosdyssen  2001-02 2002-03 2003-04
ofy ooggen 120 100 120
R - :
25 omgen 80 90 80

59538 Derggyen 160 170 190
) [=]

Awio aemgen 360 360 390
o . [~ .

, ' _ - Or
(b) Df_aw histogram for the following details.
| Rainfall  0-5 5-10 10-15 15-20 20-30 30-50 50-70
No.ofdays5 10 25 20 18 20 8
o BIODH DHTOK VES Beasnom0 AATIBN
s 05 5-10 10-15 15-20 20-30 30-50 50-70

Swovopd 10 26 20 18 20 8

(a) Calculate Arithmetic mean.
©OEREFIBDR Eﬁ%boéo&. 7
CI  10-20 20-30 30-40 40-50 50-60 60-70 70-80
£ 5. 20 25 30 10 12 6
Or.

-2 (1904)



(by Calculate médian
‘Mid values 5 ‘15 25 35 45 55 65 75 85 95
2

Frequency 2 3 8 15 26 3016 10 14 11

SogggfierRy 88,0508,
sotig Deoiser 3 15 25 35 45 55 65 75 85 95

@'oég@;éém 23 § 15 26 30 16 15 14 11

11. (&) () 8 numbers are in G.P. Their sum is ‘71 an theu:' product is 216. Then find the
. numbers. : -

25 G.P &° 3 Soro Bogo 21 S08ak 763 ogiwo 216 wond S 5808708,

(1) Sum of 3 numbers in A.P = 24 and their product is 440. Find the number.
28 AP &° 3 Sore Do 24, T oghn 440. sond & STed EHFE0E.

Or

b @ -In a school 400 students, 40% are cnrls 30% of the boys and 50% is the glrls faﬂed
the exam. What % of the students in the school passed the exam?

400 2008 DTeged GRS 40% ey, arendd 0)033566 30%, erd¥osS® 50%
5855° Do kg, 2 0w dEge %% SHRHOE

(i) The ratio of Anand’s age and Ram’s age is 5:3 and the sum of their age after 16 |
years.

w508, oo HHERe DA B 3 =8 Sctbrine Do 32 cooééo)onen 18 Dodgyore
| BB T8 DAY AR SRoRTHod.

12. (a) Calculate mode. _ _ : 7 -
zrmoozﬁsv%& E0RCS0d.

010336699191915151818919124
f 4 -9 7 5 2 1 8 - 6

Or

(o) Calculate ﬁlean derivation through Arithmetic mean.
@Qgéodﬁééom hiNe :065523'3 DBOTRY B8),000&. |
| % 30 50 70 90 110 130 150 170 190
}'6- 9 111420 15 10 8 7

3 | (1904)




T 13.

(2)

(b)

Calculate standard deviatioﬁ_
@v;ﬁrs%é ey B 0008, -
C.I 10-20 20-80 30-40 40-50 50-60 60-70 70‘-80
;.87 17 18 25 27 36 32
Or -

Find the maxima and minima ¥ = 2x® +3x% —36x +10.

8K FR0000 exprort KBE DoBAkn S0 Deod SRTS0d Y = 2x° +3x® ~36x +10.

(1904)
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B.Com. (Honours) DEGREE EXAMINATION, MARCH/APRIL 2016.
- (Supplémentary) '
{(Examination at the end of First Year5
_ _ Part II _
FUNDAMENTALS OF INFORMATION TECHNOLOGY
" (Regulation 2013-2014)
Time : Three hours ' Maximum : 70 marks
1 SECTION A — (5 x 4= 20 mar_ks)
Answer aﬁy FIVE of the following (not more than two sentencesreach).
Each question carries 4 marks.

1..  Hardware and software of the computer.

SoxgseaB Eot, HEIE SoBaho 36,

o

| BPO.

Bk,

3.  Booting process.
 aoeedoR BER-

4.  Bullets and N_urribering.
m@eﬁa;ﬁo@oﬁp HowBoh. | |

5. Rélativé reference..
883638 8365&.

6.  Auto correct.
SONEG

7. Features of power point.
D5BEra00e oFETn.

8. Slide show.
&)& 28,




10.

11.

(a)

(b)

(a)

(b).

@

(b)

- {(a)

(b)-

SECTION B — (5 x 10 = 50 marks)
Answer the following questions.
Fach question carries 10 marks.

What are the advantages and limitations of the computer?

EigmipaB B0y, PEETes 208000 5625808 Fraos.

Or

Distinguish between primary and secondary memories.

Ee520% 0Bk Bghak Deg SBETe Haisyie Fordn?

Explain different types of operating systems.
223 Bsro &FBS0R HpSe HBod 3B8oBos.
 Or
What are the features of windows operating system?

208&"% es5Be3of DR G0k, O¥ETBR?

Explain the parts of Ms-Word application Windo_w. l

Ms-Word application Window grrrems 958050E.

-

Or
Write any ten formatting commends of Ms-Word.

Ms-Word G, 90> 96 -080f Sirobeito pratbod.

Write the features of Ms-Excel.

Ms-Excel S0, ofesoin frobod.

Or
What are different types of functions available in Ms-Exéel?
Ms-Excel &° 0003 298 85°0 HoESS?

5"
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13. {(a) Explain the advantages and applications of Ms-. Pov;fer Pc‘>int.
- Ms- Power Point &pﬁb L}é@?z&?@o-meoﬁw DRODET VR 2980%08. -
| | - Or |
(b)) Write abo’ut different types of networks topologies.” |

293 Szre De5HE); Sreders MHBod Erabod.

3 - | : ©(1905)






